Algebra 1: Unit 5 Notes

There .
are two types of variables associated with functions.

X S
variable changes the \ variable.

\N P gmmw, _\—MVW V%\ﬁ%w_ a A

The \NDMOW

€

ﬁJPL‘lIbP ov THE

|nPetgawenT \}W“%le :

\ Ex 4: Identify the dependent and independent variable from each statement.

In the winter, more electricity is used when the
outside temperature goes down, and less is used
when the temperature rises.

Dependent: Euzlx@mzsa-

Independent: ""’emp o

}n the winter, more electricity is used when the
outside temperature goes down, and less is used
when the temperature rises.

Dependent:

Independent:

Write an example where temperature is the dependent variable and time is the independent variable.

each function in set notation.

Ex3: write a function using function notation to describe each situation. Express the domain and range for

P He has 5 tickets left to sell at $5 per ticket.

r Dependent Variable: Mone!

Function H0 4+ Sk # RU':)
Domain: 3 o,¢) ™ 3,53
Range: 4 yo) XS, 20, 9% oy Loﬁs

X Independent Variable: \ywW¢ < flukS s\

a. Elijah has already sold $40 worth of tickets for a local raffle.

—H_O\ = iL{O
“DHEE Y
f1)= ¥
£3) = 4¢§
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Ex 3: The cost of sending m text messages at 50.25 per message.

a. Represent the cost as a function of m messages.

((m)=0:25(")
b. Identify the independent variable: m[”agpj W:m

ssa
c. Identify the dependent variable: C(m) = (b5t oF J‘Mdny me j}J

d. Complete the table for the given domain values:

Independent Dependent As an [ 00 -

Variable, m | Variable, C(m) | ordered pair
0 25(0) -
L p15() -0 (1,025) | gttt b1
2 pas(®) =ps0| (3,0.%0) T 11T
3 p.us(3) 03| (3,0.75) 01 2 3¢
4 pas(q) =loo | (4, +00) m: #ressages

e. Graph; label your axes.

f. Describe the pattern.
o for et

messeqe Somb, “The Oont MMcreaeld (specifictivg
[,.) Y025 pes mucu-ctr.)

Exit Ticket: If yoﬂ know an equation represents a function, what can you
specifically deduct about that relationship?
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| igebra 1: Unit 5 Notes
| lesson 2 Notes: Writing function:

[Part1:U
Les S€ your smart phone/computer to answer the following in the table

tur

|

d.

How many US
dollars is 50
British pounds
worth right now,
today?

How many British
pounds is $50
worth right now,
today?

£28.19

dollar _ I
pound ' 7%

- -
-

4
%5 0 A=
l? - pAYd

Express the exchange rate for pounds
for any amount of US dollars:

- 0.y
?od

Dependent variable: i{)\‘) LLV\d\S

Independent variable: &o\\a‘rS

Express the exchange rate for US dollars
for any amount of British pounds:

zp.73d

o O """q d: -&

| Tt
Dependent'variable: do\karg

Independent variable: ?0 unds

What relationship(s) (if any) do you see between the two equations in function notation?

‘S wawnaerS = dy p, 03

’ W\&a?uw,m\r\ Ve ;\N\‘s\*ov\ ;

iNULysey

These functions represent M Functions that UY\d 0 each other
| b
Inverse function notation: _F ' (x
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Algebra 1: Unit 5 Notes

Inverse should also make you think about... THG &PPOBI'Cg

a. Predict: If f(x) has the following ordered pairs, complete the table for f~1(x).

-3
6

X \2
f) |5

rQ-
TS SRR o

X

@

= 2
Z- e

How to find the inverse of a function
Since the inverse of a function is the computational “,
equation, all the operations of the original must be undone.

The easiest way to find the equation that represents the inverse is to...

S X Ry, and Sproe B8 A

\/

" of a given function, then to find its

4. Rewrite; instead of y, write

- Fi i § (Try alone):
Ex 1: Fmdbt:g)mvirse of1 %’) S 4
=—X -
2 -
1. Cross out f(x) and write y j - 17( - (p
— l- X =\ instead.
t)) Y ¢ %= 513 +~ b
‘ 2. Switch the y with x.
XF Yy 1 -6 -6
<\ * '
—Ln =g
\ i g 3. Solve fory. % -3 '%
}(X )= '}j T

sl

-
o Mg

yaicttas

=\

D

X)= '\oo‘f =t -
W=xe" ap1x =3

f‘l(J.f)- J

Ex 2: Find the inverse of: Ex 3: Find the inverse of:
=3x_§ x-t% :35 =—4x+3
y=3x-3 E i Y Filxes
4 = j XK= "t31-3
X=34-3 ,K“":‘ = - -3
K R X~3 = -4
% R
q (.{ or 2 = -t
(mg)-,z - £
AN a=ly o
— o —— -
<P F(x)= %X vE
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